BE=203 3% . 3p =2y ui

m Al 7 28 09:00~12:00(3A17h, @FHF 12:30~15:30(3A17H
mo 4 |XE =S5 o 2 o0
B2 3 12 EHVIHT (1) & 42 18 & 82 4T
T gg AlZH () Z2 W 4L EIES Shek}
_ - GFA = A3 47)
iL 2ZH =
ez . 50 |- GFA @EBXIs Bo| T2 47 S5 | g
g o] ;ﬁiil_ol abur - 3D =2y M= ZEx 8l 2FE 400 o4 - °
ST R -HE o g
3D =2 gt -3D == =
3D 22go 60 -3D Z2H A7) 3 AU mi HE
o|5i -3D 22E 47 Y SHEEHE
oma -3D 22 HE
s as N 60 | 3D == 7|2 ug a4 oe
= N -3p 22 V2 2E =Y
(HI%E‘JI:% 3D EE"E;:! 3D EEIEC.! |:||-|:|-|1
H = - = = H
MO, JOIE0 g 10 |-3poazyssus ey HE
2 A] ) (HE Z2AHE) - BHE gtg )|
Ljgtol - L] 3D 22a 7o 9l gHE Y|
Do g 80 - BE WH}Y| o Gl E
== -3b 228 23 4
-HE CIHF =5 EEL =
opg 2| M= Za Fa 30 -EEH U A%
- OHZ 2| 2lA e a=
. a7 180

19



